CHP.4. VALUING BONDS

1.   
How much should you pay for a $1,000 bond with 10% coupon, annual payments, and five years to maturity if the interest rate is 12%? 

A)
$  927.90

B)
$  981.40 

C)
$1,000.00 

D)
$1,075.82 


Answer: A   Difficulty: Medium   Page: 111, Example 4.2.

Price = $100 
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$100 [8.333 – 4.7286] + 567.43


= 360.47 + 567.43


= $927.90

2.  
How much would an investor expect to pay for a $1,000 par value bond with a 9% annual coupon that matures in 5 years if the interest rate is 7%? 

A)
$696.74 

B)
$1,075.82 

C)
$1,082.00 

D)
$1,123.01 


Answer: C   Difficulty: Medium   Page: 111, Example 4.2.

PV
 = $90 
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 = $90 [14.2857 – 10.1855] + 
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 = $369.02 + $712.98



 =  $1,082.00

3.  
What is the current yield of a bond with a 6% coupon, four years until maturity, and a price of $750? 

A)
6.0% 

B)
8.0% 

C)
12.0% 

D)
14.7% 


Answer: B   Difficulty: Medium   Page: 112, 1st paragraph.


$60/750 = 8%

4.  
What is the coupon rate for a bond with three years until maturity, a price of $1,053.46, and a yield to maturity of 6%? 

A)
6% 

B)
8% 

C)
10% 

D)
11% 


Answer: B   Difficulty: Medium   Page: 111, Example 4.2.


$1,053.46 = PMT 
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= PMT [16.667 – 13.994] + 839.60




213.86 = 2.673 PMT



$80.00 = PMT
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5.   
If a four year bond with a 7% coupon and a 10% yield to maturity is currently worth $904.90, how much will it be worth one year from now if interest rates are constant? 

A)
$  904.90 

B)
$  925.39 

C)
$  947.93 

D)
$1,000.00 


Answer: B   Difficulty: Medium   Page: 112, 5th paragraph.

If $904.90
=
70
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then 925.39
=
70
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6.   
What is the amount of the annual coupon payment for a bond that has six years until maturity, sells for $1,050, and has a yield to maturity of 9.37%? 

A)
$87.12 

B)
$93.70 

C)
$100.00 

D)
$105.00 


Answer: D   Difficulty: Medium   Page: 111, Example 4.2. 



1,050 = Pmt
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Pmt = 104.97 ( 105

 7.  Two years ago bonds were issued with 10 years until maturity, selling at par, and a 7% coupon.  If interest rates for that grade of bond are currently 8.25%, what will be the market price of these bonds? 

A)
$917.06 

B)
$928.84 

C)
$987.50 

D)
$1,000.00 


Answer: B   Difficulty: Medium   Page: 111, Example 4.2. 


Price = 70
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Price = $928.84

8.  How much should you be prepared to pay for a 10-year bond with a 6% coupon and a yield to maturity to maturity of 7.5%? 

A)
$411.84 

B)
$897.04 

C)
$985.00 

D)
$1,000.00 


Answer: B   Difficulty: Medium   Page: 111, Example 4.2. 



Price = 60
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Price = $897.04

9.  How much should you be prepared to pay for a 10-year bond with a 6% coupon, semi-annual payments, and a semi-annually compounded yield of 7.5%? 

A)
$895.78 

B)
$897.04 

C)
$938.40 

D)
$1,312.66 


Answer: A   Difficulty: Medium   Page: 111, Example 4.2. 



Price = 30
[image: image11.wmf]20

20

(1.0375)

1000

75)

.0375(1.03

1

1.0375

1

+

-

ú

û

ù

ê

ë

é




Price = $895.78

10.  An investor buys a five-year, 9% coupon bond for $975, holds it for one year and then sells the bond for $985.  What was the investor’s rate of return? 

A)
9.00% 

B)
9.23% 

C)
9.65% 

D)
10.26% 


Answer: D   Difficulty: Medium   Page: 115, 1st paragraph.



(90 + 10)/975 = 10.26%
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